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Linjar algebra och geometri I

Tentamen 2008-01-09

1. 3‘) (.If,y,Z) = (_%a %a_%)v
b) (l‘,y,Z) = (%3_1715’ %)a

¢) (z,9,2) = (55, 5 5)-

-3 —5 2 12
2.a) At =1 3301, byx=[ -3 1
-3 1 2 4 -1
3. L={-51,3}.
1 -1 -1
4. a)det(4)=—-4, b)C=| -3 -1 3 |,
4 4 -8
1 -3 4 -1 3 -4
cadj(d)= -1 -1 4|, A= 1 1 —4
-1 3 -8 1 -3 8

Boa)t=2 b)t=-12 ¢)¢= 12085 q) 41,

6. a) Normalvektorerna (3, —4, 1) till E och (6,—8,2) till F' ar proportionella.
b) d(E,F) = 2/26.
2

T A= cos? a — sin? « 2 cos o sin «
: 2¢cosasina —cos?a+sin2a )

8. T(x1,x2,23) = %(—371,%‘2, —x3) for alla (x1, 79, 23) € R3.



